O ol (il )15 (990 3T (wvadii Colw g S puo

r Y Y TYYyyri

Y YT F YTy

F
Folgils pli
eladel Joes
ol
g
»
wﬁw : g o ol Sl sgal il HlELLS
AT A PLY oy} Fhuass alal
M1
A gl el g
gl g oAlhed op e el
e
PR Sl S 10 i gl i gl i )15 (sl00 599 (599,39 (39037
1We oF = ppelagd! 5 3 51l untigo
GBS TR Sl e Vo 5 Jl5ae alasns %
e S e, e T = s
Yl 8yl g 3laad o il 2lge oylgis
4 aghasis 15 | oglaad 5l | (g 3load otedal algae w3y
> - ! T wrma g ooy oy |
E L T 8 i sy, | Y
E:: 5 t# 8 la g g e J2 | T
¥ A- »n |- eI B
TR T Ve | e i g oVl Tultin | & ;};1
e | A 8 Yol o lntaa]| # | 3 %*?
) 1 11F T TalSosn| & i I
[ nrMJuui..WJ
Wihh&mmﬁh:ﬂﬂm )




Y dowds AITA il oo YF1 B Aty § pogas b

PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
eur:lr sentence. Then mark the correct choice on your answer sheet, |

1- The questionnaire was intended to ———— information on eating habits.
1) retain 2) survey 3) elicit 4) presume
2- The prime minister has called on the public to behind the government.
1) rally 2) denote 3) pursue 4) underlie
3- College life opened up a whole — of new experiences.
1) core 2) gamut 3) exposure 4) appreciation
4- The discovery of the new planet gave fresh to research on life in outer space.
1) status 2) scheme 3) impetus 4) domain
5- It was of me to forget to give you the message.

1) pitfall 2) remiss 3) obstacle 4) inhibition

6- The number of old German cars still on the road to the excellence of their

manufacture.

1) traces 2) orients 3) restores 4) attests
7- . Age alone will not them from getting admission to this university.

1) react 2) distort 3) conduct 4) preclude
8- New technology, the main -———-—— of the 1980s, has been a mixed blessing.

1) legacy 2) surplus 3) expansion 4) circumstance
9- I’m sure my university days appear happier in than they actually were at the

time.

1) procedure 2) proportion 3) retrospect 4) approximation
10-Even a(n) - glance at the figures will tell you that sales are down.

1) cursory 2) implicit 3) marginal 4) sustainable



PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each space. Then mark the correct choice on your answer sheet.

A map is always smaller than the real world which it represents. The difference (11) -——----
between the map and the Earth’s surface (12) -——— a scale ratio. For example, the scale
ratio  1:50,000 states that one unit of measurement on the map is (13) —--——- fifty thousand
such units on the ground. Therefore, one centimeter on the map amounts to 50,000 centimeters
(500 meters) (14) —=—eeme-m- the ground.

A map at a large scale, (15) -—---- -= 1:10,000, will show a small area of the Earth’s surface
in considerable detail. A small-scale map, will show a much larger area, but in much less
detail.

11-1) in size 2) as size 3) from sizes 4) for sizes
12- 1) expresses 2) is expressing

3) is expressed by 4) will be expressed by
13- 1) equally to 2) equally with 3) equal with 4) equal to
14-1)in 2) on 3) over 4) under
15-1) similar 2) such as 3) being like 4) the same as

ART C: Reaing Cnm]treensinn

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passape 1:

The Laplace transform method is an operational method that can be used advantageously for
solving linear differential equations. By use of Laplace transforms, one can convert many
common funetions such as sinusoidal factions, damped sinusoidal functions, and exponential
functions, into algebraic functions of a complex vanable s. Operations such as differentiation
and integration can bereplaced by algebraic operations in the complex-plane, Thus, a linear
differential equation can be transformed into an algebraic cquation in a complex variables s, If
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the algebraic equation in s is solved For the dependent variable, then the solution of the
differential equation (the inverse Laplace transform of the dependent variable) may be found
by use of a Laplace transform table or by use of the partial fraction expansion technique.

An advantage of the Laplace transform method is that it allows the use of graphical
techniques for predicting the system performance without actually solving system differential
equations. Another advantage of the Laplace transform method is that, when one solves the
differential equation, both the transient component and steady-state component of the solution
can be obtained simultaneously.

16- From the text, it is understood that the application of the Laplace transform methods to
solve linear equations can be more —----—— than other operational methods.
1) adaptable 2) profitable 3) performable 4) unprofitable

17- According to the text, “Operations, such as differentiation and integration can be
replaced by algebraic operations in the complex plane.”

The word “replaced™ here is closest in meaning to .
1) adapted 2) removed 3) shifted 4) compensated
18- What word in the text is the opposite of “perpetual™?
1} dependent 2) partial 3) steady 4) transient
19- From the second paragraph, we can gather that one advantage of the Laplace transform
method is ————.
1) the use of the partial expansion techniques
2) the actual solving of the system differential equations
3) its use of graphic techniques to predict the system performance
4) the convertibility of common functions into algebraic functions
20- We understand from the last paragraph that methods other than the Laplace transform
method are poor in ——-,
1) solving equations 2) operating systems
3) representing techniques 4) predicting the performance
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Passape 1:

‘We have been working with individual subsystems represented by a block with its input and
output. More complicated systems, however, are represented by the interconnection of many
subsystems. Since the response of a single transfer function can be calculated, we want to
represent multiple subsystems as a single transfer function. We can then apply the analytical
techniques of the previous chapters and obtain transient response information about the entire
system.

Multiple subsystems are represented in two ways: as block diagrams and as signal-flow
graphs. Although neither representation is limited to a particular analysis and design
techniques, block diagrams are usually used for frequency-domain analysis and design, and
signal-flow graphs for state-flow graphs for state-space analysis.

Signal-flow graphs represent transfer functions as lings, and signals as small-circular nodes.
Summing is implicit. To show why it is convenient to use signal-flow graphs for state-space
analysis and design. A graphical representation of a system’s transfer function is quite simple.
However, a graphical representation of a system in state space requires representation of each
state variable. In this example, a single-block transfer function requires seven blocks and a
summing junction to show the state variables explicitly. Thus, signal-flow graphs have
advantages over block diagrams; they can be drawn more quickly; they are more compact; and
they emphasize the state variables.

We will develop techniques to reduce each representation to a single transfer function. Block
diagram algebra will be used to reduce blogk diagrams and Mason’s rule to reduce signal-flow
graphs. Again, it must be emphasized that these methods are typically used as described. As we
shall see, however, either method can be used for frequency-domain or state-space analysis and
design.

21- According to the passage, “transient system™ response information about the entire
system can be obtained by .

1) analyzing techniques 2) applying analyses
3) calculating responses 4) representing multiple systems
22- According te paragraph two, block diagrams and signal-flow graphs differ in —-—---.

1) nature 2} application 3) adaptability 4) management
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23- The two --—-- discussed in the text are block diagrams and signal-flow graphs.

1) design techniques 2) block diagrams

3) multiple subsystems 4)single-transfer functions
24- The sentence “summing is implicit” implies that signal-flow groups —————.

1) are complicated 2) are easy to understand

3) are more complicated than others 4) have advantage over other diagrams

25-1t is implied from the last paragraph that -—-—-.
1) each method has its own peculianty
2) different transfer functions have the same use
3) single transfer function is more economic to show
4) present representation diagrams show different transfer funetions

Passage 3:

Control systems are an integral part of modem society. Numerous applications are all around
us: the rockets fire, and the space shuitle lifts off to earth orbit; in splashing cooling water, a
metallic part is automatically machined; a self-guided wvehicle delivering material to
workstations in an aerospace assembly plant glides along the floor seeking its destination.
These are just a few examples of the automatically controlled systems that we can create.

We are not the only creators of automatically controlled systems; these systems also exist in
nature. Within our own bedies are numerous control systems, such as the pancreas, which
regulates our blood sugar. In time of “fight or flight,” our adrenaline increases along with our
heart rate, causing more oxygen to be delivered to our cells. Our eyes follow a moving object
to keep it in view; our hands grasp the object and place it precisely at a predetermined location.

Even the nonphysical world appears to be automatically regulated. Models have been
suggested showing automatic control of student performance. The input to the model is the
student’s available study time, and the output is the grade. The model can be used to predict the
time required for the grade to rise if a sudden increase in study time is available. Using this
model, you ¢an determine whether increased study is worth the effort during the last week of

the term.



26- Paragraph one mainly deals with ——.
1) automatic machines delivering materials
2) workstations in aerospace assembly plants
3) applications of control systems in our daily lives
4) applications of control systems in space navigation

27- According to the text, automatically controlled systems

=N

2) are both natural and man-made
Sy

3) are used in “fight or flight” mode
4) are not only made by man but also used by
28- Paragraph two mainly discusses
1) natural systems in our bodies
2) “fight or flight” mode regulation
3) creation of auntomatically controlled sy
4) regulation of different elements in our
29- The phrase “fight or flight” in the pa

1) adjustment of heart rate 2) regulation of our bodies
3) regulators in our bodies 4) physiological changes in our bodies
30- Paragraph three is about the use for purposes.
1) academic 2) medi J':racﬁual 4) non-physiological

N
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